AN = 0 &

Ab e E A A

224 £ 1 3] LBIEIH XISLE}
S XISt
Ha: HY2AAH| (X ALH D)
cHel: Jl= | CEEED
A - ZH - SRA(ZH) - HIRAY - BES Ofl &4 IEH Hlusz
NEEEh 43,080,712 41,635,768 1,444,944
2 145,182 29,500 115,682
= 11,548,000 11,548,000 0
= 1,911,770 1,769,600 142,170
= 29,475,760 28,268,668 1,187,092
HHS A (X ALT D) 32,100 31,760 340
T 32, 100 31,760 340
o= 32, 100 31,760 340
201 2Bt e| 21,300 20,960 340
01 AFR 22l 17,300 16,960 340
O] 12,500 12,400 100
0JIZAREE 7Y 100, 00024520¢! 2,000 1,900 100
SHI(NALTD YREX)
8,0002+2021x304! 4,800 4,560 240
AT 7,393,915 6.879.875 514,040
= 91,000 0 91,000
= 448,200 300,000 148,200
2 6.854.715 6,579,875 274,840
N&Ikss SADIES 7,080,915 6.767.875 323,040
= 430,000 300,000 30,000
= 6,660,915 6,467,875 193,040
SAHM Y RER 18,210 15,170 3,040
201 LBt | 8.610 7.970 640
01 AFR 22l 5,010 4,370 640
OSZHI(SATHUYPEE)  8,0008x401+804! 2,560 1,920 640
202 01t 9,600 7,200 2,400
01 =LH0H] 9,600 7,200 2,400
OOIHI(ZAIHAIR43) 200,008 <401+128 9,600 7,200 2,400
SAIZEEAY 2,125,301 2,035,301 90,000
401 Al 512 2OHYI 2,125,301 2,035,301 90,000
01 Al 2,118,000 2,028,000 90,000
OLISE! SE0IE BSFAE TLAY
300,000, 0002 300,000 210,000 90,000
B 0lPT2 FHIAY 200,000 0 200,000
= 100,000 0 100,000
= 100,000 0 100,000
401 Al 8] 22 CHY| 200,000 0 200,000
= 100,000 0 100,000
= 100,000 0 100,000
01 A& 200,000 0 200,000
0222 E MER OHIZ2 YA
200,000, 0002 200,000 0 200,000
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2A:

N XH -
o=

=elr XSIkss TADIEEY (e &)
S - BB - B9I(31) - HIRAY - BAS o1&y pE-L HlZE2
= 100,000 0 100,000
i 100,000 0 100,000
OAMOtS o2 & =2 HUISA 30,000 0 30,000
= 30,000 0 30,000
401 AZHIZLSOHY] 30,000 0 30,000
L= 30,000 0 30,000
01 Al&Hl 30,000 0 30,000
OolMote o2 & =2 FHIZAHL=100m)
30,000, 000& 30,000 0 30,000
L= 30,000 0 30,000
SANE=E A 303,000 112,000 191,000
= 91,000 0 91,000
= 18,200 0 18,200
i 193,800 112,000 81,800
SAITHM | SHIA2ID] 89,000 112,000 223,000
101 @124d| 75,000 98,000 223,000
04 JIHHI22 XS E= 75,000 98,000 223,000
OZAITHAXIZAE 2 el24H[(291)
75,000,000& 75,000 98,000 23,000
SAITHAE0IH| AF 182,000 0 182,000
= 91,000 0 91,000
= 18,200 0 18,200
i 72,800 0 72,800
401 AlEHIZLS0HY] 182,000 0 182,000
= 91,000 0 91,000
= 18,200 0 18,200
i 72,800 0 72,800
01 Al&HI 182,000 0 182,000
Otz =323t S4IdA 182,000, 000& 182,000 0 182,000
= 91,000 0 91,000
= 18,200 0 18,200
= 72,800 0 72,800
ST ZAITHAE =2 ALY 32,000 0 32,000
101 @124d| 32,000 0 32,000
04 JIHHI22 XS E= 32,000 0 32,000
OZAITHAXIRAE 2 el24d[(291)
32,000, 000& 32,000 0 32,000
SEINLAS 29,799,312 28,881,552 917,760
s 9,769,000 9,769,000 0
= 1,255,700 1,255,700 0
i 18,774,612 17,856,852 917,760
STEMNLAIS 15,436,312 14,518,552 917,760
SENSEAME2S 4,926,312 4,008,552 917,760
201 B3| 75,120 56,160 18,960

- 210 -




M NGEdEwm
M STEINLAS
Bl SEHNZAE (e &)
S - BB - B9I(31) - HIRAY - BAS o1&y pE-L HlZE2
01 AtR2teltl 10,520 11,160 A640
OSSHI(=ENLERFE)  8,0002 *401+804A! 2,560 3,200 2640
02 2324| 64,600 45,000 19,600
OUHMALHLAANEE MR
800,000 +11& 8,800 0 8,800
OAIEH SHIAZE otEA Zits
350,000& 123 4,200 1,800 2,400
OE=X7 KKLES| OF0ICIN AIEE 32
350,000 128 4,200 1,800 2,400
Ouiclzs HASEEEIANEE Sits
350,000& 123 4,200 1,800 2,400
OlEEas HASEEHIANGEE Si=
50,0002 128 4,200 1,800 2,400
ONs0EH?l MEE sit=s 300,000&+12E 3,600 2,400 1,200
202 (44| 4,800 6,000 A1,200
01 =LHOAHI 4,800 6,000 A1,200
OsEHL PR 100,000& 401+ 12& 4,800 6,000 21,200
401 A ZHIZLSOHY] 2,824,392 1,924,392 900,000
01 Al&HI 2,820,000 1,920,000 900,000
OS0tE A JIEAIE BHIALY
1,900,000, 000& 1,900,000 1,000,000 900,000
FAHUE H FHEEMNE 3,169,253 3,161,631 7,622
= 54,182 29,500 24,682
= 24,870 30,900 26,030
= 3,090,201 3,101,231 A11,030
SOHE FHEZ M 3,089,571 3,106,631 17,060
= 9,500 9,500 0
= 24,870 30,900 26,030
i 3,055,201 3,066,231 211,030
HIA A=A MHIAKMS 30,690 27,650 3,040
201 LeH2E| 15,090 14,450 640
01 AtR2teltl 13,770 13,130 640
OSZHI(FHLRFE) 8,000& #421x804! 2,560 1,920 640
202 Oid| 9,600 7,200 2,400
01 3L 9,600 7,200 2,400
O0HI(FEHHREH) 200,000&#401x12& 9,600 7,200 2,400
BIZEHIALY 23,400 43,500 220,100
= 7,020 13,050 26,030
i 16,380 30,450 14,070
402 212EXHE0(1 M 23,400 43,500 220,100
= 7,020 13,050 26,030
i 16,380 30,450 14,070
02 QI AIH 22 (01X THA) 23,400 43,500 220,100
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A AGEE L
o

I FHHE & FHE>ENe
&2l sHE F=HEZNA CEREED
2A-ZH - SA(3) - MRAY - BAS Of] &b JIEH HuwsZ
OBIEEHIA 23,400 43,500 220,100
0YBIXIE BIE FUI(EAH)  1,200,000&*7S 8,400 29,000 220,600
< 2,520 8,700 26,180
Ga 5,880 20,300 14,420
0£dI0IEXIZ BIE FHI(EXH)
600,000 *25& 15,000 14,500 500
[ 4,500 4,350 150
i 10,500 10,150 350
Znszel 79,682 55,000 24,682
= 44,682 20,000 24,682
i 35,000 35,000 0
S AIY X 44,682 20,000 24,682
= 44,682 20,000 24,682
401 AlEHIZL 2 0HYI 44,682 20,000 24,682
= 44,682 20,000 24,682
01 Al&Hl 44,682 20,000 24,682
OZXIE=0 24 HAIL &5 XA
24,682,000 24,682 0 24,682
= 24,682 0 24,682
Olefider AFEER 2,405,820 2,469,720 263,900
= 1,779,000 1,779,000 0
< 183,000 183,000 0
o 443,820 507,720 263,900
Ol AIEF=E S85t 15,820 79,720 263,900
Olhdst 2 15,820 79,720 263,900
201 LB 4,920 37,320 232,400
01 AR2teld| 4,920 8,520 A3,600
Osrgtate st YEMACHR] MFJX =E 2 A
200, 000 & #3712 +03] 0 1,200 21,200
OZ3H=HM2IAE eI I=S
200,000&+0& 0 2,400 22,400
02 2324| 28,800 £28,800
Ostat- 5t LRI MBI XI(3), JIH,
=& #0123 200,000&+0& 0 2,400 22,400
Osteto 3t LBMACHT] SZHX AL
&3 1,000,000& <02 0 12,000 212,000
Ostgtate st YERMACHT] SZHX2lAIE
IlotMEe| T 2 200,000&+0& 0 2,400 22,400
Ostgate st YERMACHT] SZHX2lAIE
=Azel 249 1,000,000 <02 0 12,000 212,000
401 AIEHIZ 200 0 29,000 229,000
01 Al&Hl 0 29,000 229,000
Osrgate st YEMMAEHT] HIZERYE MZAIL
(MEX) &4 1,500, 000 & *37H 2+03] 0 9,000 29,000
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